ROCNIKOVE ZKOUSKY 3. ROCNIiK

PRUMER V JEDNOTLIVYCH PREDMETECH

praméry | CJL | MAT | ANJ | FRJ | NEJ | DEJ | FYZ | CHE [ ZEM | BIO | ZSV MaS | DGS| BiS | SvS | RUJ | cELKEM
3A 2,331 2,60 3,11] 2,50 2,251 2,00 2,75 0,00 2,50 2,50] 1,95 0,00f 0,00 3,00 3,00 0,00 2,67 2,53
7MA 2,15 2,80 1,88 2,07 0,00 1,50 2,001 1,50] 2,67] 1,83] 1,72| 0,00| 0,00] 0,00 2,00 0,00 0,00 2,00
7™MB 2,471 2,17\ 2,83 2,25 2,671 3,00 2,25| 1,67| 2,75| 2,40 2,05 0,00 0,00| 0,00 2,60] 0,00f 4,00 2,47
2,32| 2,52 2,60 2,27 1,64 2,17| 2,33 1,06| 2,64| 2,24 1,91 0,00/ 0,00 1,00 2,53| 0,00 2,22 2,34
POCTY STUDENTU
po&ty CIL | MAT| ANJ | FRI| NEJ | DEJ | FYZ | CHE| ZEM | BIO | ZzSV | PMV | MaS | DGS | BiS | SVS | RUJ | cELKEM
3A 31 5 28 2 8 1 4 0 8 10 21 0 0 1 7 0 3 118
7MA 26 5 24 15 0 2 2 4 3 6 27 0 0 0 5 0 0 114
7™MB 30 12 30 4 6 1 4 3 4 5 31 0 0 0 5 0 1 130
87 22 82 21 14 4 10 7 15 21 79 0 0 1 17 0 4 362
POCET NEDOSTATECNYCH
nedostatecne | CJL | MAT | ANJ | FRI | NEJ | DEJ | FYZ | CcHE | zEM | BIO | zSv | PMv | MaS | DGS | BiS | SVS | RUJ | CELKEM
3A 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1
7MA 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
7™MB 1 0 5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6
1 0 6 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7
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